
DRAWING FINISH GOOD ITEM
NO. NAME QTY/

UNIT
MANUFACTURE

R NAME MANUFACTURER REF

SIZE /
WEIGHT/
DIAMETE

R

MATERIAL AND
GRADE FINISHING

1 Plug 1 GAOAO u43164GY Silicone
2 Screw 1 GAOAO g24239 SS

3 Handle 1 GAOAO f07246YN/GE 124 Zinc alloy Nickel Brushed/Titan Brushed

4 Beauty cover 1 GAOAO t09488YN/GE 4 ABS Nickel Brushed/Titan Brushed

5 Cartridge nut 1 GAOAO w21225 11 PP66+30%GF
6 Knurling ring -horizontal body 1 GAOAO f09490YN/GE 13 Zinc alloy Nickel Brushed/Titan Brushed

7 O ring 2 GAOAO m19300n EPDM

8 Sedal cartridge 28# 1 SEDAL 08EX28L5002
(811271) 24 Plastic

9 cartridge seat 1 GAOAO w03144 20 PP66+30%GF
10 Body 1 GAOAO f03145YN/GE 422 Zinc alloy Nickel Brushed/Titan Brushed

11 Knurling ring -vertical body 1 GAOAO f09489YN/GE 19 Zinc alloy Nickel Brushed/Titan Brushed

12 O ring 4 GAOAO m19007K EPDM
13 Connect tube 1 GAOAO c22341EE-2 18 Brass
14 Circlip 1 GAOAO v15143 3 POM
15 O ring 1 GAOAO m19246K EPDM
16 Connect tube 1 GAOAO w22340 19 PP66+30%GF
17 O ring 3 GAOAO m19262K EPDM
18 Spout 1 GAOAO 1207-1 263 SS
19 Washer 1 GAOAO m26093K 1 EPDM

20 Aerator insert 1 NEOPERL 40.2105.000
(v12147) 2 POM

21 Aerator housing 1 GAOAO c10097YN/GE 44 Brass Nickel Brushed/Titan Brushed

22 Foot ring 1 GAOAO f38302YN/GE 21 Zinc alloy Nickel Brushed/Titan Brushed

23 O ring 1 GAOAO m19330N 1 EPDM
24 Rubber gasket 1 GAOAO k26836R 2 NBR
25 Stablization board 1 GAOAO t42070 19 ABS
26 One rod rubber gasket 1 GAOAO k26820R 3 NBR
27 One rod metal gasket 1 GAOAO g42069T 20 SUS304
28 One thread rod 1 GAOAO g24403T 43 SUS304
29 Nut 1 GAOAO g23371T 13 SUS304
30 ADEO key 1 GAOAO w24402BK 34 PA6-T GF50
31 TAQ-PEX-DN6-ACB H3/8-M8X1 L12-R-450-QB 1 Tucai 544000(807413RD) 42 Nylon
32 TAQ-PEX-DN6-ACB H3/8-M8X1 L12-450-QB 1 Tucai 544001(807413) 42 Nylon
33 TAQ-PEX-DN6-ACB H1/2-M8X1 L12-R-450-QB 1 Tucai 544190 42 Nylon
34 TAQ-PEX-DN6-ACB H1/2-M8X1 L12-450-QB 1 Tucai 544191 42 Nylon


